Lesson 28

## Exact Differential Equation of First Order

This lesson provides an overview of exact differential equation. A necessary condition for a differential equation to be exact will be derived. Then different solution techniques will be discussed. Several examples to clarify the ideas will be supplemented.

### 28.1 Exact Differential Equation of First Order

If $M$ and $N$ are functions of $x$ and $y$, the equation $M d x+N d y=0$ is called exact when there exists a function $f(x, y)$ such that

$$
d(f(x, y))=M d x+N d y
$$

or equivalently

$$
\frac{\partial f}{\partial y} d x+\frac{\partial f}{\partial x} d y=M d x+N d y .
$$

### 28.1.1 Theorem

The necessary and sufficient condition for the differential equation

$$
\begin{equation*}
M d x+N d y=0 \tag{28.1}
\end{equation*}
$$

to be exact is

$$
\begin{equation*}
\frac{\partial M}{\partial y}=\frac{\partial N}{\partial x} . \tag{28.2}
\end{equation*}
$$

Proof: First we proof that the condition (28.2) is necessary. To prove we let the Equation (28.1) to be exact. Then, by definition, there exists $f(x, y)$ such that

$$
\begin{equation*}
\frac{\partial f}{\partial y} d x+\frac{\partial f}{\partial x} d y=M d x+N d y . \tag{28.3}
\end{equation*}
$$

Equating coefficients of $d x$ and $d y$ in Equation (28.3), we get

$$
\begin{align*}
M & =\frac{\partial f}{\partial y},  \tag{28.4}\\
N & =\frac{\partial f}{\partial x} . \tag{28.5}
\end{align*}
$$

To eliminate the unknown $f(x, y)$ from above equations, we assume that the 2 nd order partial derivatives of $f$ are continuous. We now differentiate (28.4) and (28.5) w.r.t. $x$ and $y$ respectively as

$$
\frac{\partial M}{\partial y}=\frac{\partial^{2} f}{\partial y \partial x}, \quad \frac{\partial N}{\partial x}=\frac{\partial^{2} f}{\partial y \partial x}
$$

This implies

$$
\frac{\partial M}{\partial y}=\frac{\partial N}{\partial x}
$$

Thus, if (28.1) is exact, $M$ and $N$ satisfy (28.2).
Now we show that the condition is sufficient. Suppose (28.2) holds and show that (28.1) is exact. For this we find a function $f(x, y)$ such that

$$
d(f(x, y))=M d x+N d y
$$

Let $g(x, y)=\int M d x$ be the partial integral of $M$ such that $\frac{\partial g}{\partial x}=M$. We first prove that $\left(N-\frac{\partial g}{\partial y}\right)$ is function of $y$ only. This is clear because

$$
\frac{\partial}{\partial x}\left(N-\frac{\partial g}{\partial y}\right)=\frac{\partial N}{\partial x}-\frac{\partial^{2} g}{\partial x \partial y}
$$

Assuming $\frac{\partial^{2} g}{\partial x \partial y}=\frac{\partial^{2} g}{\partial y \partial x}$ and using Equation (28.2) we get

$$
\begin{aligned}
\frac{\partial}{\partial x}\left(N-\frac{\partial g}{\partial y}\right) & =\frac{\partial N}{\partial x}-\frac{\partial^{2} g}{\partial y \partial x} \\
& =\frac{\partial N}{\partial x}-\frac{\partial}{\partial y}\left(\frac{\partial g}{\partial x}\right)=\frac{\partial N}{\partial x}-\frac{\partial M}{\partial y}=0 .
\end{aligned}
$$

Take, $f(x, y)=g(x, y)+\int\left(N-\frac{\partial g}{\partial y}\right) d y$. Hence taking total differentiation of this equation gives

$$
\begin{aligned}
d f=d g+\left(N-\frac{\partial g}{\partial y}\right) d y & =\frac{\partial g}{\partial x} d x+\frac{\partial g}{\partial y} d y+N d y-\frac{\partial g}{\partial y} d y \\
& =\left(\frac{\partial g}{\partial x}\right) d x+N d y=M d x+N d y
\end{aligned}
$$

Thus, if Equation (28.2) is satisfied, Equation (28.1) is an exact equation.

### 28.2 Example Problems

### 28.2.1 Problem 1

Solve $\left(x^{2}-4 x y-2 y^{2}\right) d x+\left(y^{2}-4 x y-2 x^{2}\right) d y=0$.
Solution: Comparing the given equation with $M d x+N d y=0$, we have

$$
M=\left(x^{2}-4 x y-2 y^{2}\right), \quad N=\left(y^{2}-4 x y-2 x^{2}\right)
$$

Therefore

$$
\frac{\partial M}{\partial y}=-4 x-4 y=\frac{\partial N}{\partial x}
$$

Hence, the given equation is exact and hence there exists a function $f(x, y)$ such that

$$
d(f(x, y))=\frac{\partial f}{\partial x} d x+\frac{\partial f}{\partial y} d y=M d x+N d y
$$

which implies

$$
\frac{\partial f}{\partial x}=M(x, y) \quad \text { and } \quad \frac{\partial f}{\partial y}=N(x, y)
$$

Integration of the first of above equations with respect to $x$ gives

$$
f=\frac{1}{3} x^{3}-2 x^{2} y-2 y^{2} x+c_{1}(y)
$$

where $c_{1}(y)$ is an arbitrary function of $y$ only. Differentiating the above $f$ with respect to $y$ and using $\frac{\partial f}{\partial y}=N(x, y)$ we get

$$
\frac{\partial f}{\partial y}=-2 x^{2}-4 x y+c_{1}^{\prime}(y)=+y^{2}-4 x y-2 x^{2}
$$

This implies

$$
c_{1}^{\prime}(y)=y^{2} \Rightarrow c_{1}(y)=\frac{y^{3}}{3}+c_{2}
$$

Hence the solution is given by

$$
f(x, y)=c_{3} \Rightarrow x^{3}-6 x y(x+y)+y^{3}=c
$$

Here $c_{2}, c_{3}$ and $c$ are constants of integration.

### 28.2.2 Problem 2

Determine whether the differential equation $(x+\sin y) d x+(x \cos y-2 y) d y=0$ is exact and solve it.

Solution: For given equation we have

$$
\begin{equation*}
M(x, y)=(x+\sin y) \quad \text { and } \quad N(x, y)=(x \cos y-2 y) \tag{28.6}
\end{equation*}
$$

Now we check

$$
\frac{\partial M}{\partial y}=\cos y=\frac{\partial N}{\partial x}
$$

Hence the given differential equation is exact. For the solution we seek a function $f(x, y)$ so that

$$
\frac{\partial f}{\partial x}=(x+\sin y) \quad \text { and } \quad \frac{\partial f}{\partial y}=(x \cos y-2 y)
$$

From the first relation we get

$$
f(x, y)=\frac{x^{2}}{2}+x \sin y+c_{1}(y)
$$

Differentiating w.r.t. $y$ and using the second relation of (28.6) we get

$$
x \cos y+c_{1}^{\prime}(y)=x \cos y-2 y \quad \Rightarrow \quad c_{1}^{\prime}(y)=-2 y \Rightarrow c_{1}(y)=-y^{2}+c_{2}
$$

Therefore, we have

$$
f(x, y)=\frac{x^{2}}{2}+x \sin y-y^{2}+c_{2}
$$

Then the solution of the given differential equation

$$
f(x, y)=c_{3} \quad \Rightarrow \quad \frac{x^{2}}{2}+x \sin y-y^{2}=c .
$$

### 28.2.3 Problem 3

Solve the differential equation $\left(2 y^{2} x-2 y^{3}\right) d x+\left(4 y^{3}-6 y^{2} x+2 y x^{2}\right) d y$
Solution: First we check the exactness of the equation by

$$
\frac{\partial M}{\partial y}=4 x y-6 y^{2}=\frac{\partial N}{\partial x}
$$

So the equation is exact. Then, there exists a function $f(x, y)$ such that

$$
\frac{\partial f}{\partial x}=\left(2 y^{2} x-2 y^{3}\right) \quad \text { and } \quad \frac{\partial f}{\partial y}=\left(4 y^{3}-6 y^{2} x+2 y x^{2}\right)
$$

This gives

$$
f(x, y)=\left(y^{2} x^{2}-2 x y^{3}\right)+c_{1}(y) \quad \Rightarrow \quad \frac{\partial f}{\partial y}=\left(2 y x^{2}-6 x y^{2}\right)+c_{1}^{\prime}(y)
$$

This implies

$$
c_{1}^{\prime}(y)=4 y^{3} \quad \Rightarrow \quad c_{1}(y)=y^{4}+c_{2}
$$

Hence the solution is

$$
f(x, y)=c_{3} \quad \Rightarrow \quad y^{2} x^{2}-2 x y^{3}+y^{4}=c .
$$

### 28.2.4 Problem 4

Solve that the differential equation $\left(3 x y+y^{2}\right) d x+\left(x^{2}+x y\right) d y=0$. is not exact and hence it cannot be solve by the method discussed above.

Solution: For the given differential equation we have

$$
\frac{\partial M}{\partial y}=3 x+2 y, \quad \text { and } \quad \frac{\partial N}{\partial x}=2 x+y
$$

Since $\frac{\partial M}{\partial y}=\frac{\partial N}{\partial x}$, the given equation is not exact.
Now we see that it cannot be solved by the procedure described previously where we seek a function $f$ such that

$$
\begin{equation*}
\frac{\partial f}{\partial x}=3 x y+y^{2} \quad \text { and } \quad \frac{\partial f}{\partial y}=x^{2}+x y \tag{28.7}
\end{equation*}
$$

Integration of the first relation gives

$$
f(x, y)=\frac{3}{2} x^{2} y+x y^{2}+c_{1}(y)
$$

where $c_{1}(y)$ is an arbitrary function of $y$ only. Now we differentiate the above equation with respect to $y$ and set the resulting expression equals to $x^{2}+x y$ from the second relation of (28.7) as

$$
\frac{3}{2} x^{2}+2 x y+c_{1}^{\prime}(y)=x^{2}+x y
$$

This provides

$$
c_{1}^{\prime}(y)=-\frac{1}{2} x^{2}-x y
$$

Since the right side of the above depends on $x$ as well as on $y$, it is impossible to solve this equation for $c_{1}(y)$. Thus there is no $f(x, y)$ exists and hence the given differential equation cannot be solved in this way.

## Suggested Readings

McQuarrie, D.A. (2009). Mathematical Methods for Scientist and Engineers. First Indian Edition. Viva Books Pvt. Ltd. New Delhi.

Raisinghania, M.D. (2005). Ordinary \& Partial Differential Equation. Eighth Edition. S. Chand \& Company Ltd., New Delhi.

Kreyszig, E. (1993). Advanced Engineering Mathematics. Seventh Edition, John Willey \& Sons, Inc., New York.

Arfken, G.B. (2001). Mathematical Methods for Physicists. Fifth Edition, Harcourt Academic Press, San Diego.

Grewal, B.S. (2007). Higher Engineering Mathematics. Fourteenth Edition. Khanna Publishilers, New Delhi.

Dubey, R. (2010). Mathematics for Engineers (Volume II). Narosa Publishing House. New Delhi.

Edwards, C.H., Penney, D.E. (2007). Elementary Differential Equations with Boundary Value Problems. Sixth Edition. Pearson Higher Ed, USA.

Piskunov, N. (1996). Differential and Integral Calculus (Volume - 2). First Edition. CBS Publisher, Moscow.

